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Question No. 1

Deds e3eBorf TIDFFSIY APFO-en ©¥B08 JTYToBF FeS) H0ey -
A) Teer dpeF 0eg B) Sed 200 =08

C) B =0e3 D) 30ed® 3 ©0ed

3

The most reliable field test to determine the bearing capacity of a soil is -

A) Plate load test B) Direct shear test
C) Sounding test D) Cone penetration test
Answer Key : A Your Response : A (Correct)

Question No. 2

303 e30eION o33 ori(Slab) cheed ADFSUT Feg HB0T reeddobRy derf BCabeerh3u?
A) 0&(Boundary) rieed B) QejaxSo(Partition) rioed

C) =oz(Plinth) teed D) @03t o

The short height wall constructed above Roof Slab in open terrace is called as-

A) Boundary Wall B) Partition Wall
C) Plinth Wall D) Parapet Wall
Answer Key : D Your Response : D (Correct)

Question No. 3

Qe BAForf O Y wYIVIHIS -
A) B0TND e, B) o9 ead),nwe

C) ugaod VBN DIB) oSN D) &3ox, 5003t T3 eVTBI



Steam curing is used in-

A) Columns only B) All of the options
C) Long slabs and columns D) Mass production of precast concrete
Answer Key : D Your Response : B (Wrong)

Question No. 4

PIEV 3,380=3tS -
P BB -@0dUE - aBeeBRF-e0ed B’ B) wo,B0a0 ameerads mos ol Swser

C) RpeIF-Ro3eBI-0ZB) B’ -woeeadedy* D) @y[onT® - ROLBUIIZI-  d0otd /a3 e -

Je0E3
PIEV represents -
A) Perception - Intellection — Emotion — B) Passenger Information for Emergency
Volition Vehicle
C) Process - Intimation - Execution - D) Passenger — Intersection — Entry / Exit -
Valuation Velocity
Answer Key : A Your Response : A (Correct)

Question No. 5

PoUS3Y adred SAFBY deaoaesﬁdod) GueedTeTIANB)?
A) 1948 B) 1950

C) 1947 D) 1955

In which year was India declared a Republic?

A) 1948 B) 1950
C) 1947 D) 1955
Answer Key : B Your Response : B (Correct)

Question No. 6

eeedobo B eerS B aredd?



A) NH,SO, B) NH,SO,

C) NH,.SO, D) (NH,),SO,

What is the formula of Ammonium Sulphate?

A) NH4SO; B) NH3SO4
C) NH4.SO4 D) (NH4)2SO4
Answer Key : D Your Response : D (Correct)

Question No. 7

zozs DI B bd BITOID:
A) eeddds ZBeBEO o Bed) B) Bezr 300 eugnent 38 LLIda
C) 3303 IR BEe33O 38N D3 D) o sab,Rw

Fresh and pure snow reflectance:

A) Is very high in visible region B) Remains low for longer wave lengths
C) Falls off steeply in the near-IR region D) All of the options
Answer Key : D Your Response : Not Answered

Question No. 8

8 DGEhrives- FIW, FBrw e vdunw edyeIrny dewd By TabmNS BB Jend wvd
DT 230eB2.

A) IO, FINW, QLT B) &30, 90, B30

C) N, IO, FIW D) 330w, 30W), 90w

Arrange the following media - solids, liquids and gases, in descending order of speed of sound
through them.

A) Solids, liquids, gases B) Solids, gases, liquids
C) Gases, liquids, solids D) Liquids, solids, gases

Answer Key : A Your Response : A (Correct)



Question No. 9

8 YN oo 3B TSodeed 2IBBY, wYBBIVIDIT?
A) ST B) o9 ead),nw

C) w—"a&»&aj) D) Sody

Which of the following members is/are subjected to compressive stress?

A) Pillars B) All of the options
C) Struts D) Columns
Answer Key : B Your Response : B (Correct)

Question No. 10

8 YN oo WeBD) e3a;B,0837° LIy WP Bo@ 305D, 2019 O riThEeoBS?

A) ey B) 3%
C) 23exo D) 2033

Which of the following countries won the Badminton Asia Mixed Team Championships, 2019?

A) Malaysia B) Sweden
C) China D) India
Answer Key : C Your Response : Not Answered

Question No. 11

2 & SR SOegabO SOegad B0RBIoTT -

A) 300rB00H  @oB0abR, ©E3 Tewoosdd B) IO0B0ECE FeBOSY ©BT  Jeaoodd
23003 abeej’% QAReEFSY eedd ToBReITIB, 25003 d)ﬁﬁj% AREHFBY  ededd 03T,
2PBBBTH3T 2PBBBTNHIT

C) @3 drad@oi)dg{ B3 Bederod @géd@m ©dead D) 00B0533 dmd@ojadg{ B3 @cg QyaNead
B0BedTB, wY¥BBTTHBT 3)395003 a‘beej‘% QAReEIF T e9gead)
S08edTB, wYBBTTNHIT

In split tension test, the nature of testing is -



A) Cylindrical specimen is subjected to axial B) Cylindrical Specimen is subjected to axial

compression on its longitudinal curved tension on its longitudinal curved surface

surface area area

C) Cubical specimen is subjected to axial D) Cylindrical Specimen is subjected to axial

compression on its diagonal axis compression on its cross sectional circular

surface area

Answer Key : B Your Response : A (Wrong)

Question No. 12

S3wedoHBY BAF 000 5NNV VXY, ¥ SHabBTH-
A) ISP ahF) DI M3 BI) B) 305003 T3wedod

C) I3wedohd e083e 8588 D) o9 Sxwedodd) e.otde NagEd)

Minimum voids in aggregates can be obtained by using-

A) Aggregates of varying sizes B) Manufactured aggregates
C) Aggregates of the same shape D) Aggregates all of the same size
Answer Key : A Your Response : A (Correct)

Question No. 13

8 3YNZINYY adrodhd ricasahoBd P38 FessI?
A) Boz903(Software) B) CPU

C) 23 B, D) DB edeecss

Which of the following is NOT a computer hardware?

A) Software B) CPU
C) Floppy disk D) Motherboard
Answer Key : A Your Response : A (Correct)

Question No. 14

80UBE FITW:

A) SREIRLINDR® BB B) e@33r 33N



C) &,Jetdoes® BIARD D) T3 QI

Non-colloidal liquids are:

A) Newtonian fluids B) Ideal fluids
C) Dilatant fluids D) Plastic fluids
Answer Key : B Your Response : B (Correct)

Question No. 15

AT DS Bedad SN Bearivy woS08eN STHIHTY Qotd 3Caherrh3a.
A) ~Nes3e(Condensation) B) mo,3(Effusion)
C) ABYI(Fission) D) &0¢es(Diffusion)

Intermixing of particles of two different types of matter on their own is called

A) Condensation B) Effusion
C) Fission D) Diffusion
Answer Key : D Your Response : D (Correct)

Question No. 16

IS SoBeanY Iy5o0, Hotx* deeek BT 2T md)t:%F Q0R3reoR 230 HYN J3F @I B3-
A) 550 N/Qe? B) 500 N/Qbve?

C) 415 N/vove? D) 250 N/&vcwe?

As per IS codes, the characteristic yield strength for hot rolled high yield strength deformed bars

is-
A) 550 N/mm? B) 500 N/mm?
C) 415 N/mm? D) 250 N/mm?
Answer Key : C Your Response : B (Wrong)

Question No. 17

8 YN abod &ednisloodnt 'Beer Foek B SooPIT?



A) 8% B) &emyes

C) & D) moef

With which of the following sports is the term 'double fault' associated?

A) Tennis B) Baseball
C) Bridge D) Golf
Answer Key : A Your Response : B rong)

Question No. 18
3oz BOYShY NFeITF &Ie eBNBerbYHh?
A) BoudF N3 BN B) Zo0d* g 238,003

C) B0 TS BRT B0NT D) ZudF 3BD BT BRODDIT

Under what situation will a gusseted base be provided in a column?

A) Column size is larger B) Column size is smaller
C) Column carries higher load D) Column carries lesser load
Answer Key : C Your Response : C (Correct)

Question No. 19

BYARIYRP0n FOAd BewSabdy 8d:

A) Beem3c  AIToFessmN IS B) Flewm08R SGYD 39D BTeBBO H0BI
BOFEE,3RY, BRODDLSES HDHTHOBADRY BBD FPRDIT

C) B,lpmp08n's F¥Y) BT FTeBTO 0oBI D) F,lempodd’s  BPYD Qe ITesINYy
BDHOBRY, BEBHST Serimon BeddeW3T

Pick up the correct statement from the following:

A) Phytoplankton contains photosynthetically B) An increase of phytoplankton decreases

active pigment the back scattering in the green region

C) An increase of phytoplankton increases D) An increase of phytoplankton absorbs the

the back scattering in the green region blue region rapidly



Answer Key : C Your Response : A (Wrong)

Question No. 20

DY Bore BB ITBDEARNT TODFFI TRoDFS DB ©@de TBAW FoohFTeRHed
30, 03roriddBmIN Adhd v esad,adw-

A) TR 0O, B) B3,e3 0R:3nw

C) =e30d evBmood D) Soodweeedd el ednwd

If the soil has a very low bearing capacity and still if piles are not a feasible option, then the best

choice is -

A) Mat raft B) Individual footings

C) Strap foundation D) Combined footings
Answer Key : A Your Response : A (Correct)

Question No. 21

BT 08I JoB B Per’ @ NS VDSBS, berd sabwHBH-
A) Segy00f D13 B) @00B8ewyd3

C) @33 D) =eg 3

b

The ratio of the head recovered to the head put in, is known as-

A) Modular limit B) Flexibility
C) Efficiency D) Sensitivity
Answer Key : C Your Response : Not Answered

Question No. 22
o3¢ d)ed%ﬂozs B0’ BedS OBOIRY, bert endb-eTaNT-
A) 4 Qe B) 3 e

C) 1Qe D) s e

The height of the pilot's eye above the runway surface is assumed as-

A) 4m B) 3m



C) 1m D) 5m

Answer Key : B Your Response : C (Wrong)

Question No. 23

rieeciodh Be0HR DedF By BTT chedhd JuB De3d, bert BdoberrHIT;
A) BOFsF B) Ootder

C) m%od_)o‘ D) cogpo®

The beam outside a wall up to the floor level above it is known as-

A) Purlin B) Lintel
C) Spandrel D) Rafter
Answer Key : C Your Response : C (Correct)

Question No. 24

& BYNT dIdh ced aSoaStsoi) S(de] afaezirivéaig{ NOFE oB00hY 39 Bodriweodr etmN
22peBA8p0B03 BR0DT?

A) eI B8 2930 B) @, B3

C) eeo,Oexf(Alkaline) doe3 D) <90 3pe3 303

Which of the following contains a large number of solar cells joined together with silver wires in
a definite pattern?

A) Lead acid battery B) Dry cell
C) Alkaline cell D) Solar cell panel
Answer Key : D Your Response : D (Correct)

Question No. 25

o250 ToodReer Ry BYDE 88, IFeRTN BoTRUNLYd BYE, SwATew HVZmed 00T FRT
V3T BRVSNYRY ¥—arh3a - 8 8eYSnYY ber! sdabead -

A) Bodort B,z 0w B) &om3~ 3,5

C) & By D) P B



Long narrow diameter steel pipes are used for conveying fresh concrete down to deep depths,
especially below water bodies. These pipes are called as -

A) Pumping Pipes B) Transaction Pipe
C) Tremie Pipe D) Down Pipe
Answer Key : C Your Response : Not Answered

Question No. 26

2edr} OFTo 2395° MU BUTBY AFIT reedny SoTetar d)ed% Aeerd ched Ogme3,8 W08 BRI
3IB0BRBDN drd dAdorF T0F *W?

A) @2 J0orf B) ot dedorf
)

C) m®edor® D) @odboedor®

Which finishing covers with a new protective layer over the whole surface area of walls
constructed by brick or block Masonry?

A) Plastering B) False Ceiling
C) Grouting D) Pointing
Answer Key : A Your Response : A (Correct)

Question No. 27

DED B3, 2 DAe.I S;7F-MeF IO *WTET VITrHIBY-
A) 3, soentwh B) @03 Seadriwd

C) zedor’ Zex’ Tesfriwd D) e30350x0@ Teadriwd

Medium thickness line-group of 2 mm are not used for-

A) Dotted lines B) Out lines
C) Cutting plane -lines D) Dimension lines
Answer Key : D Your Response : Not Answered

Question No. 28

8 3YNS 0o BB3Teohd) BSTRF cedN) VTV, edST?



A) SOTT DI ©Tey [e3zoad B) 30560)3 SIEAEISIW

C) DEIZoRD) B3y dd D) 33 Sedcodd

Which among the following ministries gives Medini Puraskar every year?

A) Ministry of Environment and Forests B) Ministry of Culture
C) Ministry of Finance D) Ministry of Law
Answer Key : A Your Response : Not Answered

Question No. 29

QYRIF BeS0° 20T VBT ISTFeIsy,N YD TFFZNT -

A) Reednwd B) 3893 Godiwh
C) e3ved D) ©o%k300 330D

Slipform Paver is an equipment used for constructing -

A) Walls B) Precast elements
C) Chimney D) Pavements
Answer Key : D Your Response : D (Correct)

Question No. 30

adreod 8 BBudab BevB DedS To0BLBTEN IR PDITY, derd sdabeerb3a-
A) Sos33 B) bedS $0es0ed

C) modeeas D) Q03

The densification of a soil by means of mechanical manipulation is called-

A) Compressibility B) Soil stabilization
C) Compression D) Compaction
Answer Key : D Your Response : D (Correct)

Question No. 31

QPYYY i FoNed eVTBOE) deedperF VT BRODT?



A) TodoomdF B) ®@odwoerdado

C) Sozpdt D) 30

Which of these musical instruments has a keyboard?

A) Shehnai B) Harmonium
C) Santoor D) Ghatam
Answer Key : B Your Response : Not Answered

Question No. 32

3e330¥Y Bederod B¥eond Jedod DHHBW GVOLPMHPYBY, SEowa o DrrFay wYrivod
3B -

A) RCC Fed¥ o) ©8ahz5o08 STanddad B) 0 80209 B8N
D3 BNDITD

C) @dridd wu0n reedd Boodee* wg¥d) D) ©8ahSez5008 STABWIBHVT BN &)Fe508
DYDY 8500 DoBRE STANIBNYRY, 2BODID

The cheapest way to prevent the formation of diagonal bottom corner cracks in windows can be
prevented by -

A) Providing RCC frame all round the B) Providing Sill Beam

rectangular opening

C) Using Concrete blocks for wall instead of D) Providing  circular  shaped  window

bricks openings instead of rectangular openings

Answer Key : B Your Response : Not Answered

Question No. 33

SRRV TAZBW T3 e Bredd, DHTIIDS 2By bert sdabererhIa-

A) 33 B) 33002
C) %@G D) 379383,

The restoring force per unit area set up inside a body is called-

A) Stress B) Mass



C) Strain D) Elasticity

Answer Key : A Your Response : D (Wrong)

Question No. 34

Boedeedd S dtded deod) .
A) Qw9 303,03% B) =3y,
C) $3Brel3TB ded D) esedeedveel ;0900 BeT8e—DIS

is the greatest source of halogens.

A) All of the options B) Sea
C) Lake water D) Emissions from Automobiles
Answer Key : B Your Response : A (Wron

Question No. 35

SREY DY, BAYIE D ADF, BB FeeBmer, FDAS Feed IDITNVIT. G0
~peesany S0t sBobeerh3d

A) T)ABReS degsn B) &89 30ed s’ adveedsS
C) &3Babor adweedS D) 230303 adweesss

When an object is viewed from different directions and from different distances, the appearance
of the object will be different. Such a view is called

A) Perspective view B) Axonometric projection
C) Oblique projection D) Isometric projection
Answer Key : A Your Response : D (Wrong)

Question No. 36




BYNIYHrivRy B0 w3O.

@3 -1 @ed -11
A) DS VoSO @590 1. RODSFAVD EIBNY DYS
B) @P3t3d Do@st 2 02 SeeITw 193,
C) DNholeN 2P30T Somae 3. geoy D) For BN
D) 2RoleN RS FoDEE 0 o e o3,
A A-1;B-3;C-2;D-4 B A-4:B-3;0-2,D-1
© A-3;B-1;C-4:D-2 D) A-3;B-2;C-1;D-4
Match the following.
List-I List-II
A) Type of beam connection 1. fonTCChEmS
used
B) Framed Conneetion = Flange cleats only
C) Uﬂ-Stﬁ?HEd Neatsg i Flange and web clips
connection
D) Snﬁ'ene.d seated A T
connection
A) B)

A-1;B-3; C-2;: D-4 A-4:B-3; C-2: D-1

0 D)



A-3:B-1; C-4;: D-2 A-3:B-2;: C-1;: D-4

Answer Key : D Your Response : Not Answered

Question No. 37

2017 GQ B ©TedaRD OERTRY SFT BBV My oF IPFYT® IYTGRF BT W B
B030bF 3 ZBabRY HchEeorTy?

A) P BFOY ToTYBY B) &% O3z

C) 08, 0dT &33° e390H0DTDT’ D) Q3, %00k 23=° 300DV DT’

Which Chess championship title did grandmaster Viswanathan Anand win in the tournament
held in Riyadh, Saudi Arabia in 2017?

A) Candidates Tournament B) Chess World Cup
C) World Rapid chess Championship D) World Senior Chess Championship
Answer Key : C Your Response : Not Answered

Question No. 38

dpeariwd harorieedd sarive odr 3,8 dudwen 8 8¥NS ayed edenvs Suabearh3u?
A 2OBID B) @omod 3,8 o

C) ©o0B=3 D) escznd

Which of the following gases is obtained when metals react with dilute acids?

A) Hydrogen B) Carbon dioxide
C) Nitrogen D) Oxygen
Answer Key : A Your Response : A (Correct)

Question No. 39

ST - ORI Srob3aby BoTbRIE TDFFIWS BIS Bee8moNs.
A) 203 D& B) Bow, D&F

C) &3 e3¢ D) oot DesF



A flip-flop is a binary cell capable of storing of information.

A) One bit B) Zero bit
C) Byte D) Eight bit
Answer Key : A Your Response : A (Correct)

Question No. 40

S3FBT 3BT Fzed, FZIAY AWHDHT THTIY Deew, Haen TeDI Bgady 8 FYHSINVY
YTE, BSTNDHISTI?

A) SRS ety 308 DR I B) 3RS 303

C) IDINOTW Pw20STriROB ByIW 3R D) et 33T 303

According to Archimedes principle, the upward force experienced by a body immersed in a fluid
is equal to which of the following?

A) Total weight of the body and the fluid B) Weight of the body

C) Weight of the fluid displaced by the body D) Weight of the total fluid

Answer Key : C Your Response : C (Correct)

Question No. 41
2,00 Bdad ehed, Bedd eheed FoabF IS BOHSIYRY IPFO-e, T 3LDTeses)-
A) 03 3030d Taew B) o9 ead),twe

C) a3 c\—-}jdrad 90T DOT) 3&3@(30&1@8 o8z D) 22038 I3
QY BBTde o2

In order to determine the effects of a force acting on a body, we must know-
A) Line of action of the force B) All of the options

C) Nature of the force i.e. whether the force D) Magnitude of the force

is push or pull

Answer Key : B Your Response : B (Correct)

Question No. 42



8 BYNIYINYY £325,60°3 e, Senad esadrechd A adreycdh?

A) B)
13 -3 11 3
M2IAT?2 M3LAT?2
C) D)
3 3 1 -3 -5
LT M=L+*T

Which of the following is the dimensional formula for the specific speed

of a turbine?

A) B)
1 3 5 11 3
M=L+AT? M2LIT?
0) D)
3 3 1 3 35
L+T MILYT:?®

Answer Key : B Your Response : Not Answered

Question No. 43

UCS 20507°S Zoardahweesdd TgSawy wedee-CAD O S <9 203eNd.

A) 0,0,0 B) 10,10, 10



C) 20, 20, 20 D) 30, 30, 30

The default position of the UCS icon is positioned at ___ on the AutoCAD grid.
A) 0,0,0 B) 10, 10, 10
C) 20, 20, 20 D) 30, 30, 30

Answer Key : A Your Response : A (Correct)

Question No. 44

wBBed DedS 306S Ritaaé'soéd ab’aoéd) QW0 IS 23S -
A) 003 3 B) 103 3.5

C) 103 3 D) o0 ~oBd 3.5

The value of the toughness index of most of soils lies between -

A) Oto3 B) 1t03.5
C) 1to3 D) 0to 3.5
Answer Key : A Your Response : C

Question No. 45

m%af L' S 0 D3O, Seoldyedyd dperd ‘W' BT 'a’ D) b’ 20t JPFEIHIH. 4T wodD DB
D &sHI:

A) oo BodTw B) (Wb2a) / L2 @) (Wa2b) / L2
C) (sz) /L d.)d)_n (Wa2) A D) Wb/L d)ég Wa/L

In a fixed beam of span 'L', a concentrated load 'W' divides it as 'a' & 'b'. The fixed end
moments are:

A) All of the options B) (Wb2a) /12 & (Wa2b) /12
C) (wWb?)/L & (Wa?)/L D) Wb/L & Wal/lL
Answer Key : B Your Response : B (Correct)

Question No. 46



2833 gedod m%a‘ UG, QDS ODTBTY, Sert BCaberh3u-
A) Tozeg AN3 B) O30me 930°

C) Doac’s HH3I D) @033y, w0

The ratio of the moment of inertia to the span length is called-

A) Relative stiffness B) Distribution factor
C) Stiffness of the member D) Carry over factor
Answer Key : A Your Response : B )

Question No. 47

2ot edeer ¥gd gdod o3 ARDIYBO00T evotRHd wI3BY Deyy wodle ddeed oy iheesmon
o:,abTorha Beerh3d.

A) 05 B) 2.0

C) 4.0 D) 1.0

Stress developed due to application of a load suddenly is times that due to same load

being applied gradually.

A) 0.5 B) 2.0
C) 4.0 D) 1.0
Answer Key : B Your Response : B (Correct)

Question No. 48

RRADFS LY BB B0 ATHABAoTN eVo3HIH.
A) 33 B) To®ol30e

C) o.oe3ef D) &pecf

Scattering of sunlight occurs due to the presence of-
A) Crust B) Atmosphere

C) Mantle D) Core

Answer Key : B Your Response : B (Correct)



Question No. 49

306 D0 ZoudF DharFurieodd w¥Eme TBYSoDd Bothwond, ¥BC B3R TRDS ©S03
B0moZ0 SrerireodT -

A) Rglor’ B) @eck w03

C) eedelors D) @,BRe 5003et30n®

If a beam or column becomes weak or found to be insufficient, the most effective way to
increase its strength is by -

A) Grouting B) Plate Bonding
C) Jacketing D) Micro concreting
Answer Key : C Your Response : Not Answered

Question No. 50

QBB 03T dvy Teridsdr JeUBwerod Beod, JZFUBOT FPeah wBYZ FoFniY
SONI D) VST Torids Seod)B FeSriv V- FeSHvRD, Beoten &3 NeogadyeNd.

A) euRorf(UMANG) B) e

C) Tura® @0l D) E-S®ef

application provides a single platform for all Indian Citizens to access pan India e-

Gov services ranging from Central to Local Government bodies and other citizen centric

services.
A) UMANG B) Bhoomi
C) Startup India D) E-Sahaj
Answer Key : A Your Response : Not Answered

Question No. 51

8 VNS o BISTY Sreoedoder ap tdneseerT Sb Hodd BIZoth wedBvarhBa?

A) ©0Ta00d ead &Tpee’ B B) ©03000dead 33;3ed ToTgme B
C) O3, e, O D) 25,03 3,053 ©oTa0ed eadh B

Which of the following days is observed to commemorate the signature of the Montreal



Protocol?

A) International Ozone Day B) International Wildlife Conservation Day
C) World Health Day D) International Day for Biological Diversity
Answer Key : A Your Response : A (Correct)

Question No. 52

20 Qe DYUIT Bolah BeoPW et VeI BTF 1 e B8NT. BoBadh Bewd TePFIBTN 0.85 Oeesvt/
J3ord BB, HRLd MEe03Sy BoBdBAND.

A) 1.4 B) o.e1

C) o2 D) 1

The head of water over the centre of an orifice of diameter 20 mm is 1 m.The actual discharge
through the orifice is 0.85 litre/s. Find the coefficient of discharge.

A) 14 B) 0.61
C) 0.2 D) 1
Answer Key : B Your Response : Not Answered

Question No. 53

HoDYT IniFried oao%;,)eoi) esadweend eqsgd) ododh?
A) d%eaﬁs £32300 B) einoox® ek m&g{

C) oo abvordx® D) 3°Zeoq, dorf Bedees

Who is the Chairman of the National Commission for Backward Classes?

A) Thalloju Achary B) Bhagwan Lal Sahni
C) Sudha Yadav D) Kaushalendra Singh Patel
Answer Key : B Your Response : Not Answered

Question No. 54

33), S DedFod IJOTwBTT DFINGT, WYY wBDTahd) v JFeC=NT -

A) 3edon* TodabhRY BRIV B) 2v3t30° 0od



C) maFs 00d D) ©0@0° 0eR¥ Tod

If the soil is of expansive type, like in Black Cotton Soil, then the best foundation type is -

A) End bearing pile B) Batter pile
C) Friction pile D) Under-reamed pile
Answer Key : D Your Response : D (Correct)

Question No. 55

03 esa!rag&a‘ Q@3 2,0t 2rI0dheNS.
A) JpZ, BRI B) 3¢ oot $0)Te3x* I5IF

C) o8 OIS BQes0e I3 D) ©9050x° QA0 dpes

Reverse Osmosis is a type of-

A) Micro filtration B) Dead end filtration system
C) Cross flow filtration system D) lon exchange method
Answer Key : C Your Response : A

Question No. 56

So)r Qpedee oS HURNE 83)30d 19,00 HTdd ealweelten IB)FTe SoRproeS® Seodr
JBNS, IreBde0BT.

A) NIT 230023 B) IIT Qo=
C) IIT 3z D) IIT &3m3
Virtusa Corporation tied up with to organize the grand finale of the Second Edition of

Carbon Zero Challenge.

A) [IT Bombay B) IIT Madras
C) IIT Delhi D) T Kharagpur
Answer Key : B Your Response : Not Answered

Question No. 57

&0 egiwd Dwoerd g NY vrle FPTY VHIOTE ITESSIY der? BdabererhIa-



A) o5 E39 I;BI0N* B) QeerfS Bneedork

C) 3R, B B D) e&° e39,300F

The rear wheels do not follow the same path as that of the front wheels. This phenomenon is

called -
A) Extra widening B) Coning of wheel
C) Transition curve D) Off tracking
Answer Key : D Your Response : A 7)

Question No. 58

Fo0lnhoBeT Ledeed’ BBOB ToBY, FoUmrE Tdne) [oawsd)-
A) @omen @yesd ,z B) 3wedpeidpednesonrd(CFC)

C) egdex® D) s2)a33

Major compound responsible for the destruction of stratospheric ozone layer is-

A) Carbon dioxide B) Chlorofluorocarbon(CFC)
C) Methane D) Oxygen
Answer Key : B Your Response : B (Correct)

Question No. 59

8,9, 390Y IDBo SDINYY, Irieds’ FeTo’ v S ouT-

A) I0SS JeT0° 0TI Wrede SDATY  B) TeT D) ¥ BPTW OTTBR 2.083e e3TOI

SEIARRIS

C) ®eINS ®Q YN YN8 DedT 3T D) ®e30S &9 2o¥NS ©9N038 38D e3BOT

In horizontal curves of Railway Tracks, Negative Super elevation means-

A) Negative super elevation is not at all B) Both the outer and inner rails are at the

possible in any curve same level

C) Outer rail is at a higher level than the inner D) Outer rail is at a lower level than the inner

rail rail



Answer Key : D Your Response : Not Answered

Question No. 60

8 3YATINYY adredHh SOzmed-Dedw(non-impact) Ind,sriv?
A) @03°-23e3* ITBNL(printers) B) a‘a&s‘—dmzsa@ag [T BNL(printers)

C) B,;-Qdeef Sudand(printers) D) &,8° Qg s (printers)

Which of the following is a kind of non-impact printer?

A) Ink-jet printers B) Dot-matrix printers
C) Daisy-wheel printers D) Line printers
Answer Key : A Your Response : A (Correct)

Question No. 61

Q) 3Bed BT J;BNFS BNV SBETITE V-
A) T B B) voaresf

C) e D) o

The hardest among the natural stones listed here is-

A) Limestone B) Marble
C) Slate D) Granite
Answer Key : D Your Response : D (Correct)

Question No. 62

Be3BrY DZYSab SVTIVT 2.0 BVoweedh BFme BOBY,T J59,:5903Y ¥PSF)RBB-en 8 ¥NS adrod
OPIRSY, VYSBIBRYUIHBE?

A) 23 3BT Qee3D’ AT e B) 33 Oedadho’ ee3t® dpon Fe

C) 3YD 338 P D) @& Soodr QoS3 e

Which method is adopted to develop an approximate or conceptual estimate for perimeter
works for buildings from the following?

A) Cost per square metre method B) Cost per linear metre method



C) Base unit method D) Cost per function method

Answer Key : B Your Response : A (Wrong)

Question No. 63

HTML ma)éd)oaa‘ Te3Ten 8 3YNIJYrvY abreH@o wdz%ad?
A) JeFF Q0BF B) @ou3JresF

C) T Sowmars D) e®0f

Which of the following is required to create an HTML document?

A) Search engine B) Internet
C) Text editor D) Browser
Answer Key : C Your Response : C (Correct)

Question No. 64
SRS, 8280 0BT JeederoNd domd SpedTen 8 FYNT alyed TeennivRy wvSuarhdd?
A) DBIET Teldrixd B) @33 Sesfriwd

C) ®ydon® Sesdnisd D) Oer@o® Seadrixd

Which of the following lines are used to show that the object is cut and then viewed?

A) Hidden lines B) Centre lines
C) Hatching lines D) Leader lines
Answer Key : C Your Response : C (Correct)

Question No. 65

grdvad T9e1008 LVBN)E adredTh?
A) 2303, B) esabredey
C) 3 0 -1 D) «@moesf

Which is the natural satellite of planet Earth?

A) Moon B) Aryabhatta



C) Kalpana - 1 D) Insat

Answer Key : A Your Response : A (Correct)

Question No. 66

DeS ToBdeedR D TeZFmoN BOTVToZB AwrFoPTeNE ood 0BTBIBRY, ¥g8 AN
Q0Ies-

A) ©T0-Zo0TE, B) 33
C) 33° D) 343

To ensure that compression flange of a beam is restrained from moving laterally, the cross
section must be-

A) Semi-compact B) Slender
C) Plastic D) Thin
Answer Key : C Your Response.: Not Answered

Question No. 67

MS-a80f IO, pociyFes Seot3v’ Oy ¥Jes e300 VDI Beri?

A) qTadszFas‘ D03V’ DVF® e Baesr §6‘ B) qo—adnzsﬁa"' D03V’ DT e  vore és‘
VRT INRVB DRI IVB

C) oz qo—adnérw‘ DEOELIV® DB §6‘ I3 D) @—améme De0e30’ eﬂaig{ e9es 2320
[0S ALSISEINAIALY

In MS-Excel, how to use Format Painter multiple times?

A) By double clicking on the Format Painter B) By single clicking on the Format Painter

lcon Icon
C) By clicking on Lock Format Painter Icon D) Format Painter cannot be used multiple
times
Answer Key : A Your Response : Not Answered

Question No. 68

B3BIBY FPHB D) e BOTUDITY BB WeBew WY TS -



A) @oQa‘ POt B) Codc Foe,

C) Swor e, Foes D) &0e moef

The fall which is used to minimise the disturbance and water impact at the fall is -

A) Inglis falls B) Rapid falls
C) Sarda Type falls D) Ogee falls
Answer Key : D Your Response : Not Answered

Question No. 69

Q0B FTF ¥y VBN 2W>TrhIT-
A) B3R a8 FTaoh IreBden B) 338 3¥03059,N Someriew

C) IFF®dsm D) DT D) Q025 2BLI00RL) BB B

Engine Sheds are used for-

A) Help to change direction B) To help for sideway shifting
C) Maintenance and repair D) Help to change engine
Answer Key : C Your Response : C (Correct)

Question No. 70

QYIRNYRY DT oryN Fodhd-eraNd.
A) Tox* C B) s~ B

C) 3= E D) 3= D

addresses are reserved for multicasting.

A) Class C B) Class B
C) Class E D) Class D
Answer Key : D Your Response : Not Answered

Question No. 71

BE3BT ©owRTY, YPeEeNYIY bert SNer8dBwaNT-



A) TFR DA WOVT ITERE B) Soced b)) B,3eadhsd dTewes

C) TOoR, D) TYBNB JTeRE D) Socyos D) IT)B TR

In building estimation, the specifications are classified as-

A) General and valued specifications B) General and secondary Specifications
C) General and preliminary specifications D) General and detailed specifications
Answer Key : D Your Response : D (Correct)

Question No. 72

&9, £35° BERXab 008N BT BeRD VY SeodeBOMIT-
A) Bgo DO B) @odF 30

C) D DD D) 6U33 2B

The zero of the graduated circle of a prismatic compass is located at-

A) South end B) Eastend
C) West end D) North end
Answer Key : A Your Response : A (Correct)

Question No. 73

13 Je BeazoD esaheend v B adyedh?
A) N.N. Jpexmy, B) Qde30dF Bew 0

C) DDeF BORF D) C. SoRoeesaF

Who is the Chairman of the 13th Finance Commission?

A) N.N. Vohra B) Vijay Kelkar
C) Bimal Jalan D) C. Rangarajan
Answer Key : B Your Response : Not Answered

Question No. 74

BT Qe SayedBew B FYNI aed edeednva drecdiabodeodrt Bigurhdu?



A) Somy DR Brediabo B) 98F ) 3

C) Zody DD S D) @ody DR 39,

Which of the following metals are mixed with chromium to make stainless steel?

A) Copper and Chromium B) Nickel and iron
C) Copper and Nickel D) Copper and Silver
Answer Key : B Your Response : B (Correct)

Question No. 75

2630 SRDOVTE 263 FDIT CeoTRY bert BabeRhId-
A) Soesd Serd B) SeBabaxs Sert

C) H3CR=T 3Ien D) éégsad 3Jen

Total distance covered in total time is termed as-

A) Average speed B) Variable speed
C) Uniform speed D) Instantaneous speed
Answer Key : A Your Response : A (Correct)

Question No. 76

o030 Greeadd Sty IEne 30T Joogme Seadody A 8hHI).
A) B S5O, Qobariwd B) edS soad)

C) me9ad zaad D) TS 903

First of the major environmental protection act to be promulgated in India was-

A) Noise pollution rules B) The water act
C) The air act D) The environment act
Answer Key : B Your Response : B (Correct)

Question No. 77

2,00 dSIBY, ITyoT PBe) <, .¥rieola.



A) B0iesss Zecs B) OR7o=3 erow

C) o 80N D) &0t 59,A°

In an aircraft, the fuselage includes-

A) Passenger's chamber B) Tail of aircraft
C) All of the options D) Pilot's cabin
Answer Key : C Your Response : C (Correct)

Question No. 78

50023 O T35 aoNR.
A) 2dne¥ B) asawsé
C) m%araes D) 303

Kanchi was the capital of

A) The Cholas B) The Chalukyas
C) The Rashtrakutas D) The Pallavas
Answer Key : D Your Response : Not Answered

Question No. 79

Se3FBef Typ° heds B3worBTY 39,3001eE30°0T 0.75 Qe &N Lerf-BfF SeBBT, e3gdodvecetsot
DB) ToF* JedT SRS ID3w ©9oBTY) |th @NT;

A) 50 Qe B) 25 e

C) 75 Qe D) 7.5 Qe

If the intercept on a vertical staff is observed as 0.75 m from a tacheometer, the horizontal
distance between tacheometer and staff station is :

A) 50 m B) 26m
C) 75m D) 7.5 m
Answer Key : C Your Response : C (Correct)

Question No. 80




0R-T,e0 52,000FS U3 B9, 00 RS Sad0rF Eresd) 208,03 3B @0Dsmh-

The crossing angle at the level crossing of road-rail crossing should NOT be less than-

A) 20° B) 30°
C) 25° D) 45°
Answer Key : D Your Response : Not Answered

Question No. 81

IS-456 : 2000 B520, WS J3ah IR BOFV,Tab BT, 0d, BeB3IeoBT ;T Foes3S-

According to the concept of limit state design as per 1S-456 : 2000, the probability of failure of a

structure is :
A) 0.8 B) 0.9
C) 0.0975 D) 0.08
Answer Key : C Your Response : C (Correct)

Question No. 82

SoggeesF BTTT wridwud ey, VDD, 807w, F203eF Bwozed JBY TANYY TN[ew YT
83,e0bo’ FBF ayeHch?

A) e 8,00’ B) mn, 31e000°

C) 233 83,eadh0° D) Crewo® 33 e’

What is the conveyor system used for transporting loose materials like soil, ores, coal, concrete,
etc. without the need for full total enclosure?

A) Belt conveyor B) Screw conveyor

C) Bucket conveyor D) Roller conveyor



Answer Key : A Your Response : Not Answered

Question No. 83

Dg-er0Borf Srk D3O IBF 2 Cdeodr! 20° BANAVY wBUISHBAVRY BeodD BBV
Toyor; Dedad eheden.

A) %ew“ 34E3° Dot Be® B) odborox®

C) 3,00 Jeofdes® D) @ Jrf Jeot e

The common type of staircase in buildings with two consecutive 90° direction changes at mid-
landing slab level is:

A) Straight Flight Staircase B) Ramp
C) Spiral Staircase D) Dog-legged Staircase
Answer Key : D Your Response : D (Correct)

Question No. 84

osdead SeRBoBA B30, VEJrinY STt M-
A) 25 SoQE X 22 TOE X 22 TOE B) 21 Sode X 10 [Toce X 10 [Boe

C) 18 Soe X 9 TOE X 9 DOoe D) 19 S0yt X 9 TOE X 9 Boche

As per Indian Standard, the modular size of bricks is-

A) 25cmx22cmx22cm B) 21cmx 10 cm x 10 cm
C) 18cmx9cmx9cm D) 199cmx9cmx9cm
Answer Key : D Your Response : D (Correct)

Question No. 85

QOS50S DAEUR IPISTBY VB, ¥ FDeBTENYY, SrdaberaNes-

A) 252Ad0EFNY PSS B) Qwecdoes® HOadye &5cdecdrisd
C) BRdNaIe Bdheadriwd D) Baef 20e303e3° Ao

In the slope deflection method, the equations are derived using-

A) Method of joints B) Moment area theorems



C) Castigliano theorems D) Double integration method

Answer Key : B Your Response : D (Wrong)

Question No. 86

@gee; S Jobad ared PoRHIRITH BF,ADIT od Sodods?
A) Breots B) 8335

C) BperRahs D) 39,8,0%0

Up to which element was the law of Octaves found to be applicable?

A) Cobalt B) Oxygen
C) Potassium D) Calcium
Answer Key : D Your Response : Not Answered

Question No. 87

3eQon® mys® AU, e.¥rieold-
A) I 88, B) F500° mox’
C) o033 Bo30W D) &ned’®

Shielding glass contains-

A) Lead oxide B) Fibre glass
C) Steel wires D) Chrome
Answer Key : B Your Response : A (Wrong)

Question No. 88
BRWE3 Dot BT TR @eN VBHYN wBNPerrhSe-
A) B ABeerI B) 2oa d3Gee3S

C) oo 80,0 D) 3ead 330,03

Cavity wall is generally provided for-

A) Sound insulation B) Heat insulation



C) All of the options D) Prevention of dampness

Answer Key : C Your Response : C (Correct)

Question No. 89
RCC 33330 debriedd teedd) evotsoarhdd -
A) BYS Bpdon® B) e98mrs BodeeedS

C) 3503 9K D) Tomo0d3 30

Honeycombing defect in RCC members is caused by -

A) Poor curing B) Inadequate compaction
C) Shock waves D) Chemical reaction
Answer Key : B Your Response : B (Correct)

Question No. 90

oridedh 3,65, 8 dgrrs, FedT-
A) Bo08eER 3,0 B) bt BeBDIS e3,%,
C) Ruemadls® e3,eF, D) Jeest e3,0F,

Mangalore Tiles belong to the category of -

A) Concrete tiles B) Burnt clay tiles
C) Mosaic tiles D) Slate tiles
Answer Key : B Your Response : B (Correct)

Question No. 91

o280 DB) Seagioedeect m&geoi) VTR aed TokBOB?
A) ©v33 B3e3 B) mhaoos®

C) vozmaxF D) 23 333

In which state are the Bharatpur and Ranthambhore National Parks located?

A) Uttar Pradesh B) Guijarat



C) Rajasthan D) Madhya Pradesh

Answer Key : C Your Response : Not Answered

Question No. 92
ToBFBIB Jed FOW0TRT BReT T ©0BR) B WSaHRY edesasedh-
A) 150 Qngo/L B) 50 om0/l

C) 250 Qwngo/L D) 80 Qmgo/L

The chloride content of public water supplies should NOT exceed-

A) 150 mg/L B) 50 mg/L
C) 250 mg/L D) 80 mg/L
Answer Key : C Your Response : C (Correct)

Question No. 93

BIperdef S0vocw hHooS odrowern Fogdd2v?

A) &0 1987 B) &&eF 1986
C) 0, 1989 D) &&ef 1988

When did Chernobyl nuclear disaster occur?

A) August 1987 B) April 1986
C) August 1989 D) April 1988
Answer Key : B Your Response : Not Answered

Question No. 94

OB0B BIBB FeeddB, DTS HB) Jear! A B3Iy, Bdadbew, oyl BFBabLIY YSUrbB3?
A) I3 I8 B) 2e3338

C) Ay D) ID30 BIB aTGe D) A 8B

To get a diminished, virtual and erect image of a tall building, which mirror is used?

A) Plane mirror B) Convex mirror



C) Both concave and plane mirror D) Concave mirror

Answer Key : B Your Response : B (Correct)

Question No. 95

PoU3a 8 ¥NS alyod Do B '¢Img 0 BRE™ Qo2 VBT BdTUrbIa?
A) Degodd B) ©m90

C) Quednetoo D) 3o

5}

In which of the following states is the festival 'Chapchar Kut' celebrated?

A) Meghalaya B) Assam
C) Mizoram D) Sikkim
Answer Key : C Your Response : Not Answered

Question No. 96

Bdweees Nt JooPdToB & YN ded BewdS JOaNT?

A) ot BB,NYY BTRCBRIV,E 5908 JTDNDI  B) muIodh 30T F3FO3 BOIT DTS
d)eei’%oi)dg{ ©9,02)e3F 0O d)ed’bé QO ISPV QoW FVAhUHIT, & 0 doBd 1
Slelonlpigting 33301 B33

C) o B0, D) SROVRY, HDHSTeD YD Few BDRY B
20T ZabH3T

Which of the following statements is correct about remote sensing?

A) The surface from which emergent B) The ratio of the reflected flux to incident

radiance is constant in all directions is flux is called reflectance which varies from
called Lambertian surface Oto1
C) All of the options D) The basic property used to identify objects

is called signature

Answer Key : C Your Response : C (Correct)

Question No. 97

BV’ 0¥ DT Tesdriwd, degroNead Teariv'Sy ovabererh3d.



C) 3H g0 4H D) HB

Centre lines and section lines are drawn using __ pencil.

A) H B) 2H
C) 3Hor4H D) HB
Answer Key : C Your Response : D (Wrong)

Question No. 98

DYBB Dot FoabF TG0 FDI, ByAohe wepdeomd, BOBYTe ¥PmY EF 5T
V3008 JSGBBBTrHBT-

A) QoFe eaR3eso’ B) 33: aBa/a3E3

C) Tomy3e),/R0BADTF D) 8 e s, B

Keeping in view, the feasibility order of magnitude, the preliminary, conceptual or budget
estimates, are prepared by-

A) Construction manager B) Owner himself/herself
C) Architect/engineer D) All of the options
Answer Key : B Your Response : B (Correct)

Question No. 99

QOB VZT BN N3eBIYRY, SoahweeesSabIy &erf 80ainz90-

A) Soodeess B) 8430 b3
C) Iwoern D) s

Combining two or more plots as a single plot is called -

A) Amalgamation B) Building setback
C) Frontage D) Bifurcation
Answer Key : A Your Response : Not Answered

Question No. 100




@ot3e3e0 FyerFiY eva-delrod oBady *@00T BerdBTNDHSH-
A) SoBreds B) Ned3 Somdr

C) O3 D) a¥dd B0

The stability of sub-grade in a pavement is influenced by-

A) Compaction B) Water contact
C) Rigidity D) Materials used
Answer Key : B Your Response : A

Question No. 101

SBod Feewdad BIIRE BEFS UTH Bwa) FoabFSodT,
A) QDS De3I, TedTe B) 3y Somesen

C) FDomaIY dobod)Bew D) ®exd 3riabey

The main function of a diversion head works of a canal from a river is-

A) To raise water level B) To store water
C) To control floods D) To remove silt
Answer Key : A Your Response : C (Wrong)

Question No. 102

10 <oe YUGE 30 ©T0 OO 0[N 10 kN/e UDL e:¥¢88-30erh3d. O3 wodd ged
atdh sHS-

A) 83.33 KNm B) 125 kNm

C) 166.67 KNm D) 100 kNm

A beam 10 m long, fixed at it ends, is subjected to a UDL of 10 kN/m. The fixed end moment is:
A) 83.33 kNm B) 125 kNm

C) 166.67 kNm D) 100 kNm

Answer Key : A Your Response : A (Correct)



Question No. 103

8 3Y0I o moi»dm)x;s N0DoBe TIFIY N07 BFSabY BeodT?
A) B;PoE I)ddede3ot B) c\_‘i))e L330°

C) I3 I3,;30e05° ﬁ@ ) 0° D) oeﬁ’éfag)emddac 3)dde3ee30’

Which of the following air pollution control devices has maximum efficiency?

A) Dynamic precipitator B) Spray tower
C) Wet cyclonic scrubber D) Electrostatic precipitator
Answer Key : D Your Response : D (Correct)

Question No. 104

3Jed DoBeRsd 4 Ig0dride), dedad I oh areH?
A) dedairerhdch B) Sodpeads

C) BRodI1ID D) sA0erhA3

Out of the four processes listed, which is the last process?

A) Hardening B) Compaction
C) Setting D) Evaporation
Answer Key : A Your Response : C (Wrong)

Question No. 105

e3e0° A &) e90° B 2odie Srivond dndued dE) wode sugda 3eodd 8ud wett A & d
DRV BRoDYT 2300° B &3S 2d' oy BeodhIE. ovude wole wgead BT 1 2¥MeNgd, woof A
ob &, B3adw 2390° Bad &,;7° B30b bmes, &N,

A) 8 B) 4

C) 2 D) 1

Bar A and bar B are made up of the same material and are of same length. But bar A has
diameter 'd' while bar B has diameter '2d'. If both are subjected to same axial load, the ratio of
strain energy of bar A to strain energy of bar B is :



A) 8 B) 4
C) 2 D) 1

Answer Key : B Your Response : B (Correct)

Question No. 106

Deddr} BpobBeoBDHE Be3EE Yoglu BordehEBa0wmN KIPB0BwETed Ceslah ) &erf sdaberorh3d.
A) B3B3 b B) 333 cdwoeas

C) 333 Tesl D) 3833 J=0s

Line up to which the plinth of a building adjoining a street may be lawfully extended is called-

A) Building carpet B) Building plan
C) Building line D) Building extend
Answer Key : C Your Response : C (Correct)

Question No. 107

S obory) @EReF 8 IS oDHBT) rE) 0 DHIBHNT.

A) DT D) e B) 3208t R S0
C) Qeer DR Z03ees D) e DR Aot

Modular ratio is the ratio between the Young's modulus of-

A) Sand and steel B) Concrete and cement
C) Steel and concrete D) Steel and cement
Answer Key : C Your Response : C (Correct)

Question No. 108

SURE IV JAnSY JSreskksoIw BFTTR DR TF ddedsd 803 2om odermed
RB,0roNGdR, AT 2.0 SVRTRY B teden AGOWRT, 8 Bedy REBT 23088 B5UI:

A) 8J°F 3e 30T B) &eadf &3 o

C) oz /I* &z,083 D) @e0 Jets 20w 03



When the quantities of the work items are difficult to be quantified and the rate analysis is also a
complex issue, but still the contractor is willing to undertake a work, then the type of Contract
best suited is:

A) Turn Key Contract B) Labour Contract
C) Lump Sum Contract D) ltem Rate Contract
Answer Key : C Your Response : C (Correct)

Question No. 109

BRI BYBITY, ADFIT Jo3C el @DEY PogpermeN Teobdedww ©Jed IdF, BIBOY,
Sidhde)Sa?

A) 23 B) 2O

(3}

C) @ D) eleley

Which soil will take years and decades to undergo full settlement after the new building is

constructed?

A) Sand B) Gravel

C) Silt D) Clay

Answer Key : D Your Response : Not Answered

Question No. 110

5 NaRRe Bheadd) 8 Jgperid vBabd wthIu-

A) w030 A B) 306 oI

C) a0 dpos D) SRBReS] oS

Castigliano's theorem falls under the category of-

A) Displacement method B) Stiffness method
C) Force method D) Equilibrium method
Answer Key : C Your Response : C (Correct)

Question No. 111

@338 T FBFab (BT} FDe Sewer FyariF) BedToBH Todyordwen-



A) 20 3BFED B) 13aF

C) 5 3IRFOR D) 100 IFFOL0

The life expectancy of aerial transport system (rope or cable way) is usually-

A) 20 years B) 1 year
C) 5years D) 100 years
Answer Key : A Your Response : Not Answered

Question No. 112

Aredesth sdobrh PBBairNy Bnd o Sdabamith, HI o OFy TSI, ©TNy berd
sdabewarban-

A) OeFEpes B8 B) ©@d3503
C) Qem@peef s D) thén

When an owner can borrow money against the security of property and interest is paid, then it

is called as -
A) Leasehold property B) Mortgage
C) Freehold Property D) Lease
Answer Key : B Your Response : B (Correct)

Question No. 113

reedabd) OTICTT 3e3d STANWE VLY YT VYR WFS0TT -
A) 25002 239 B) e0f &30z

C) Ooedef e39z° D) woedra* e393°

The type of hollow used when there is an elaborated window opening in the wall is -
A) Jamb block B) Pillar block

C) Lintel block D) Partition block

Answer Key : A Your Response : Not Answered



Question No. 114

BCDod @per ded ob?
A) 23,30 ZeedeF BIDeF B) 23,30 SB393 BIeS
C) 23,30 e980nw BIeSf D) 23,30 BeedcE BeseS,

What is the full form of BCD?

A) Binary Coded Decimal B) Binary Conduct Decimals
C) Binary Characters Decimal D) Binary Coded Digitals
Answer Key : A Your Response : A (Correct)

Question No. 115

200D BR)3E, FeFFOT B dvorrith S rivod SwsmeNabe domd BOBeOTS Bwoergdab 33

A) D3 B) 0=a,~"
C) CAD 23z8F D) 2380°
A is the person responsible for verifying that the drawings in a project set are free of
mistakes.
A) Client B) Receptionist
C) CAD trainee D) Checker
Answer Key : D Your Response : Not Answered

Question No. 116

R.C.abQ S0rieddefeson g ddeodeadhd. evdd sewdsF L esH-
A) (L/500) + (o3,F e3035023)/30) B) (L/500) + (o3, esadyocdy/25)

C) (L/400) + (mog,F 8030/ 25) D) (L/400) + (o3, e30dyoc)/30)

The maximum eccentricity to be considered in a R.C. column of length L is-
A) (L/500) + (lateral dimension/30) B) (L/500) + (lateral dimension/25)

C) (L/400) + (lateral dimension/25) D) (L/400) + (lateral dimension/30)

Answer Key : A Your Response : A (Correct)



Question No. 117

QBEFS HVBBCED0T IBFe) e3 B0eg-

A) o3 B) Sodeeds 3o
C) 333 I D) <eg,3

The test conducted by Vicat's apparatus is-

A) Consistency B) Compression strength
C) Tensile Strength D) Fineness
Answer Key : A Your Response : A (Correct)

Question No. 118

B DR VWOOS 2,08 BT3B, B ©0BIoNT:
A) O S B) oot cees®

C) SouB Tger- Ve’ 3 D) ooes @a?f

Drop panel is a structural component in:

A) Grid floor B) Flat plate
C) Slab-beam system of floor D) Flat slab
Answer Key : D Your Response : D (Correct)

Question No. 119

80 ARFHG COSRY 38 3T cov BEeO IHIy FBSBITALIT. Y Bedad wowsy berd
sdaberrbads -

A) 302 ALEIFTI 90T B) @Q&Débs TE3B 90T

C) ©omozd IDyoe OTIa D) 33 QBT 90302

The rate of construction of a hospital is expressed in terms of cost per head. This type of
estimate is called as -

A) Plinth area estimate B) Functional unit estimate



C) Approximate quantity estimate D) Cubical content estimate

Answer Key : B Your Response : B (Correct)

Question No. 120

DB Bed038 &) ey STwa o0 A 8N
A) SO B 88,0 B) @omood 3,33 &

C) Boafrd® yoved ;o D) &.2dnes®

The primary cause of acid rain around the world is-

A) Sulphur dioxide B) Carbon dioxide
C) Carbon monoxide D) Ozone
Answer Key : A Your Response : A (Correct)

Question No. 121

8 BYNIYNYY oD esBTeedon® AN SoodbrniweNtd/vwohS?
A) oerg esad,rw B) &,0° doSeed, 0e5°

C) =a0¢3 D) 300 Tra,ees, 06

Which of the following is/are the functions of an operating system?

A) All of the options B) File Management
C) Security D) Memory Management
Answer Key : A Your Response : A (Correct)

Question No. 122
8 3YNSYrVY e BOGHT Sg3(circumpolar stan@=y BEIPHBI?

A) eI B0TIFO OBT BT B) 80030 edhad edS B0z, D03 ¥

SBD B0eBT

C) D037 DedT DB BYNST 0B B0z D) D03 B3¢0 edI D) BYNT S0esE

Which of the following represents a circumpolar star?



A) Altitude at upper culmination is minimum B) Upper culmination above horizon, lower

culmination below horizon

C) Both upper and lower culmination above D) Both upper and lower culmination below

horizon horizon

Answer Key : C Your Response : Not Answered

Question No. 123

8 YN ayod TeSnw IdabreN?

A) Bookeedd  wvdtod BIINO, JRFY, B) BI,e3 ITTHO, 2¥E008 FTTab I
2293008 DB BoBIIHIT deh A0FBR,  WSBFaHZNDIS
2208 2208 BC0BRRY, FoBUUHSES

C) Soohweesd wvetold FSIWY woBaRth3d D) B3ed FSTWY, 3,0ho Brtedws Sedrw
AEDAOT 2:v0iCoBALRY DaFUM9DITO0T,  WOETN ©PAIT D) DB Fdors
Sow,Cme I, 38D Oi3,0

Which of the following statements is NOT correct?

A) In combined sewerage system, one set of B) In separate system, the design of sewage
sewers is laid for both sanitary sewage system is economical

and storm water

C) As the sewage is diluted by storm waterin D) In separate system, self cleaning velocities

combined sewage system, cost of are easily available and occasional
treatment is low flushing is required
Answer Key : D Your Response : Not Answered

Question No. 124

o5 Jodd, NPT BOT 3,;B0°-Feeds® oot sdabererh3a.
A) OB3H03 BRD B) 63,03 mad)

C) o83 D) 1@ 4 3 SRS

A flow is called hyper-sonic, if the Mach number is-
A) Less than unity B) More than 6

C) Unity D) Between 1 and 4



Answer Key : B Your Response : B (Correct)

Question No. 125

WOBITORF DB NEeeero0" BeTW QS?
A) ©T2) I3T, B) &ode Dxomend

C) worm¥ Eed D) Bowm) Sas,

Where are the Andaman and Nicobar islands situated?

A) Arabian sea B) Indian ocean
C) Bay of Bengal D) Red sea
Answer Key : C Your Response : C (Correct)

Question No. 126

Grorf deex* Bdodah®), CGl ©odd -
A) BaOrieedTE rieedon® OTRF B) Zo0riedde mae),3;dn? 03°

C) Bretdr® M), 01° T D) JeeedcE rjee3on’ 00°

In roofing sheet terminology, CGl means -

A) Corrugated Grating lron B) Corrugated Galvanized Iron
C) Coated Galvanized Iron D) Coated Grating Iron
Answer Key : B Your Response : B (Correct)

Question No. 127

237338 BectER,N DTS 08 (6) H?
A) o B) >

C) 1 D) <o

What is the coefficient of restitution (e) for elastic impact?
A) 0 B) >1

C) 1 D) <0



Answer Key : C Your Response : Not Answered

Question No. 128

32 O B @R @3, O?
A) 100001 B) 100100
C) 110000 D) 100000

What is the binary representation of 32?

A) 100001 B) 100100
C) 110000 D) 100000
Answer Key : D Your Response : Not Answered

Question No. 129

S B BYNS alyod Mhesegesd) wvar Peday?

A) BB o0’ B) ®23 103
C) 3 33083, D) ®e3S DedS HedBpRYIB

Which of the following characteristics of ballast makes it unsuitable for use?

A) High modulus B) High stability
C) High resilience D) High water absorption
Answer Key : D Your Response : D (Correct)

Question No. 130

3,803, 033 BPed Feor; BabhSDTY SoBIBID adyeth?
A) N.K. 3owo B) 25ox° Sgoads®

C) RK. Ben,o &3¢, D) Qu002F Besod

Who presented the first Union Budget of Independent India?
A) N.K. Chanda B) John Mathai

C) R.K. Shanmukham Chetty D) Morarji Desai



Answer Key : C Your Response : Not Answered

Question No. 131

20 B3[O Jedh BOhew BDPY RIS SB0 LI B[O ©uc FOIJY Sdadwad BHewd
QPBY, dert dabeerhB3a-

A) KifamZS CTAELX! B) &,30° 0de¢s® s0t3

C) SOF 0O Bots D) 835, 3mots

The type of valve which allows water to flow in one direction but prevents its flow in the reverse

direction is-
A) Sluice valve B) Pressure relief valve
C) Air relief valve D) Reflux valve

Answer Key : D Your Response : A (Wr

Question No. 132

500383 Nt DTIST Mio Tedrad ez~
A) 1:5:10 B) 1:1:2

C)1:3:6 D) 1:2:4

M10 grade of concrete mixing ratio is approximately-

A) 1:5:10 B) 1:1:2
C) 1:3:6 D) 1:2:4
Answer Key : C Your Response : C (Correct)

Question No. 133

8 3YNTINYY adredHd aiédwaeod%a‘ 3 evBBoE AN ?
A) S QndeSecs® €3 e303ee3 B) Oedobo Sodwoeedees®

C) eSedado &3 e303ees D) owg 808,00

Which of the following is/are an example of piezoelectric material?

A) Lead zirconate titanate B) Lithium niobate



C) Barium titanate D) All of the options

Answer Key : D Your Response : Not Answered

Question No. 134

200 GRTIAN .'\Sraea?,aieg odg, Breeod) Qea‘ CelniV3?
A) 6 B) 7

C) 4 D) 2

How many angular bleed lines are present in the 200 rupees note?

A) 6 B) 7
C) 4 D) 2
Answer Key : C Your Response : Not Answered

Question No. 135

bedabo SBoFreew B 3038 BPTNT TSI D5, (D) &y TeodT.

A) 20t B) o0
C) Soew, D) S
Helium atom has ______ electron(s) in its outermost shell.
A) One B) Two
C) Four D) Three
Answer Key : B Your Response : B (Correct)

Question No. 136
PRFEH BENYRY ©oBER 05T HoDAHEY NC0BTN FoedIBIT-
A) &N BRLTY B) Tox* B0&mad

C) 308 B0mOD D) @33 36

Colloidal particles are seen continuously in a zigzag path in-

A) Brownian movement B) Raman effect



C) Tyndall effect D) Discrete particle

Answer Key : A Your Response : A (Correct)

Question No. 137

AT dQorF BBy Sabew B VNI e rieednivs dDFaerh3u?
A) 3Beed B) &3 rieed

C) @08 rtoed D) we<

Which of the following wall is constructed to resist the pressure of an earth filling?

A) Retaining wall B) Breast wall
C) Parapet wall D) Buttress
Answer Key : A Your Response : A (Correct)

Question No. 138

DBINW D) 8;Me08MP0nd A DcnBPOR B VAR, VYRS Sewd dabodBuand-
A) I 3I50° (5@ 2) O) B) Jendcrs 3033r3(Catalytic converter)

C) oo 8080w D) m@o‘ibec‘f)d.)zs@d e3gexss(Electrostatic
precipitator)

Air pollution from automobiles and industries can be controlled by fitting-

A) Wet collector(scrubber) B) Catalytic converter
C) All of the options D) Electrostatic precipitator
Answer Key : C Your Response : B (Wrong)

Question No. 139

8 3YNTS0Y ayBR,adyoN 2,023 2500 oY FBJobRy, 117 Swerde by’ alyedh?
A) Tee3rve Jmotdednedo B) &< odesrr

C) 3 0o D) Qweddo SIF

Who among the following was the first woman to win Wimbledon title successfully nine times?



A) Martina Navratilova B) Chris Evert

C) Steffi Graf D) Monica Seles

Answer Key : A Your Response : Not Answered

Question No. 140

d)egaic')ﬂd)d BoNSUB emr;jb JeeBado  FoednerJeer esﬁdod, eaddgl Q@ JedFBovod
aaatggeadeadra@zao&d)—

A) DN BoednerIees B) 200edadhdy’ S ees

C) B30 0o soeieerees D) 538 0do écieas‘

If the harmful salt present in the soil is Sodium carbonate, it can be neutralized by the addition

of-

A) Magnesium carbonate B) Magnesium sulphate

C) Calcium carbonate D) Calcium sulphate
Answer Key : D Your Response : B

Question No. 141

DPC ©o@0-

A) B0 G Soodees B) @,0%° Qo Beer

C) B,08 SFodbesr Hoodets® D) wo0x* 333, Bres'

DPC means-

A) Damp Plain Concrete B) Damp Proof Course

C) Dampness Permeable Concrete D) Damp Prevention Course
Answer Key : B Your Response : B (Correct)

Question No. 142

SR RN FerTerrt VETe VE0T BIOYT B3Ry Soben ITIEVIE 20w
3, Sson.

A) I SeeF B) mode



C) F;0°zeef D) I3F0°

A is a system designed to prevent unauthorized access to or from a private network.
A) Web page B) Packet
C) Firewall D) Server

Answer Key : C Your Response : C (Correct)

Question No. 143

QOBOLT T 0BEF A, LIRET (IS]) B5e0, dadeahd A3 ob dakweed—ered Mg oF)?
A) 1189 X 841 B) 297 x 210

C) 841x 594 D) 420 x 297

According to the Indian Standard Institution (ISI), what is the size of a A3 sheet in mm?

A) 1189 x 841 B) 297 x 210
C) 841 x 594 D) 420 x 297
Answer Key : D Your Response : Not Answered

Question No. 144

0803 BBV T03B B50 108 BES FTD I OSSN BEF B deet deddew
T 00DIBT-

A) 0203 dw03 B) ®;%° dwg03

C) Seots* B30t A0S D) 0 dwgos

According to which theory of failure does the ductile material begin to yield, when the maximum
principal strain reaches the strain?

A) Rankine's theory B) Haigh's theory
C) St. Venant's theory D) Guest theory
Answer Key : C Your Response : D (Wrong)

Question No. 145

2020Ch TAF | & MFH0E BB RS il MBYDS eDTBZN.



A) sQer30eT )38 B) Toadf eodzo3

C) @pedredel D) @o0dw ©o3

is the ratio of the volume of voids to the total volume of the given soil.

A) Degree of saturation B) Void ratio
C) Porosity D) Air content
Answer Key : C Your Response : C (Correct)

Question No. 146

10a SPos 8990 P AWYOBIY, w08 vode s8aheerhId.
A) Too3d,F B) &9,
C) d=oad*-Y D) &30003° &ef
Maximum principal stress failure theory is also called theory.
A) Rankine B) Tresca
C) Tsai-Wu D) Tsai Hill
Answer Key : A Your Response : A (Correct)

Question No. 147

8 3YNSINYY o &5 ,37
A) CaCO, B) CaO
C) Ca(OH), D) CacCl,

Which of the following is Quicklime?

A) CaCOj B) CaO
C) Ca(OH), D) CaCly
Answer Key : B Your Response : B (Correct)

Question No. 148




VBTN BB FRA VB Bew003T Jyroes S mééaboﬁmgd—
A) 10-12% B) 60-65%

C) 48-210% D) 27-35%

The moisture content of a well seasoned wood is in the range-

A) 10-12% B) 60-65%
C) 48-210% D) 27-35%
Answer Key : A Your Response : A (Correct)

Question No. 149

DB euE), VT BT VB, 2YIUAHSH-
A) B0x)3F Do B) 3303 euBBTEnw

C) Tress I5ol83 eV S DeIannwd D) &3,3° o’

Mild steel is used in the manufacture of-

A) Compression members B) Cutting tools
C) Rolled steel Sections D) Tension members
Answer Key : C Your Response : A (Wrong)

Question No. 150

BB B33 AahEDvRy PO, 23, teedad 83 s3,dE vriv-
A) 70 Qe B) 50 Cbve

C) 100 e D) 60 Qucbe

To comply with current building regulations, the minimum cavity width in an external wall is-
A) 70 mm B) 50 mm

C) 100 mm D) 60 mm

Answer Key : B Your Response : Not Answered



